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@4 % C (Vitamin C)
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FEEMPELEY FERS

— ¥r¥e i+ 20-80 mg/100 mL

— 4% #2+30-70 mg/100 mL

— & F $h i+ 35-65 mg/100 mL
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EAE Lol

& p 23 EP>E (RDA):
18-304% ¥ {£2 4+ 4. 100 mg/per day

PSS =+ p & § (UL):

o N AL 2000 mg/per day
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(1) 2,6-= % #f~ i <2z (2, 6-Dichloro Indophenol)
(2) 2,4-= " #8 * 72 ;% (2,4-Dinitrophenylhydrazine)
(3) = pi iz

(5) ¥ k& sk sk Rk
(6) B2 An ¢ K K 472



2,6- dichloroindophenol

Pink.color in acidic condition Colorless in Acidic Condition
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T
1. HPO,-HOAC:% i

> 159 MhakpL s 40 mL K fiE ik
» 4¢ 200 mL H,0

> R 3

> Ak 2 R A 2 500 mL

2.4 2C &% (1mg/lmL) :
> B~ 25mg Vit C
» 11 HPO,-HOAC 3 7% %% % 50 mL
(#Fuig a2 2C LF 3 EAe g4k

3.2,6-= % #p~5 % (0.2mg/mL) :
> F=2~ 18 mg NaHCO?,(;’y IR T AT o)
> A% 50 mL Bk (4 f3deps 2. P &
» 4e o~ 20mg 2,6-= # #ps
> ¥ 2=

rokE s 1100 mL

> ﬁdﬁvﬁ
> R PR P R E R Y
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4,11 2,6-- % %{ﬁ” L ICB I F (2 ha A5
5. 30 7f/ mA AR 4
6. & 4 2,6-= & W if 2t £ (ml)

& 1mL 2z 26-=- % g >t 5 mgenad £C
» — L 50ImgVItC/mL(GE = - T+ 2)
T=w4 2CERxa2 2C* £/26-- # fxpif 2+ £
1 (mg/mL) x 2 mL/(A-B) mL
A=a4 2CH B2 26-- 7 i T &
=% v w2 26-Z % pF LE
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e A 1B g
P-if £ k7 gk b & £ HPO;-HOACH i
:;;,{IB’»15 mL & i+ » B e » 15mL HPO,-HOAC:% i)

VY N——

B ok FLPN A (%9 .‘E'B’»lOmL e A5 K)

4v 5 mL HPO4-HOAC 73 %

" 2,6-= ”%yiﬁs;,g,fomzfg

3}'&—%307]?/1” X2

B 26-- & WP L (&2 ZAML)
(v 22BmL)
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AE

c A=t e (%) 2,6-- 3 dps

* B= 739 w(FE4K)26-- F #xp

e D=4 53 % ﬁ"’fg % #(2)

~
~

%

» T=1mL 2 2,6-= & #cps 0 %

¥

E
R
s

b mg s 2C
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R (s T

;L;aﬁr 1mL 2 2,6—: F AR TS b mgeniad % C
a4 % C=50mg/50 mL

2mL &4 #C 2 if . @=125mL #12,6-- & %

Blank = 0.1mL 7 2,6-= # #zpf~

g 24 2 CER(Mg/ML)Xx 22 2C* £(mL)/2,6-= & 4= * £ (ML)
(50/50) x 2/(12.5-0.1) = 0.1897 mg/mL

BAP a4 & CoplE
% F 2E=8.1mLen2,6-- % Fps
Blank = 0.1 mL 4 2,6-= # #xf~

\WAAROE= (A-B) mLxDxT/# & (mL)

(8.1-0.1) x 2 x 0.1897/10 = 0.304 mg/mL
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